| N of associated (recoToSim) looper tracks vs dxy |

track dxy (cm)

n o
N = » =
£ £
e 2
> o N
[ToRe= N T
1=©° x
3 g
.mm N o =
s |3 =1
2
bS e}
H
8
o = o
2
I [To) 8
[ 8 o
o € —
S % |
! 2
LD o
I =5 3 o
S 5 D
1
unﬂ_ m
5
) H o
N ¢ ]
1 8 [
S 5 S
=z
o
]

0 10 20
track dz (cm)

-10

-20

095=50-15-10 -5 0 5 10 15 20 25

%55

30

20

10
track dz (cm)

0

-10

-20

[N of associated (recoToSim) tracks vs dxy ]

0.

n

Q=

E £

3 IS

=

3 LD

= 05

3 %
o —
= — © N
s |8
= [ts) g
q 2
e o m
& L0 3
1 ! 7}
3 o 3
4 il 'S
I LB
q 0 0 5|
1 (=]
1 ¢ o 2
qd o o S
; b |3
I 8
3 5
z

DOM mkFit_ T base_noSerl
DQM_mkFit_TT retrainOldFiles_v2

track dxy (cm)

°%55

30

20
track dz (cm)

10

-10

-20

0

N of reco track vs dxy

syoer™

i
B3 =
5 o

3
one

095 =50-15-10 -5 0 5 10 15 20 25

o

N of reco track vs dz

<

o
syoer™

5
=3

5}



	Contents
	Page 1


